Polynomials

Lesson 3b

Factoring Trinomials with Leading Coefficient

Eg1.
Factor the following.



a)
x2 + 2xy – 3y2









b)

2k3 + 18k2 + 36k










When we are to factor trinomials with a leading coefficient:  ax2 + bx + c


We use 





                           




: 

	
It begins by multiplying the leading coefficient (a) to the last term (c).
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Eg2.
Factor 



a)
2x2 + 7x + 6









 










TRY IT:


b)
3x2 – 10x + 8









Idea:

Need two terms
whose 
product 
= 
a x c













whose 
    sum 

= 
   b
Eg3.
Factor completely.



a)
4x2 + 4x – 3 








b)
2k2 – 14k + 12










c)
10xy2 – 22xy + 4x






d)
8c2 + 18cd – 5d2

















e)
24(x – y)2 – 13(x – y) – 2 




 






















Practices
MHR p.234 
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